JDM &% — EHRE
YEY - IRRER - sTIBTE MR

FHRh

@ LEIREIE  SHEMEm -
@ [RAREEESN © AR ARE R ERA o

SRS
HE EIE (mm) 20 | @25 | 032 | @40 [ @50 | @63 | @80 100
EEH R [EEc.
ik R
ERENRE kef/cm? (pa) | 15~7(150~700) | 1~7(100~700)
=AERED kgf / cm? (kPa) 9(900)
ERRERE °C -5~60
BEOE M5x0.8 \ PT 1/8 PT 1/4 \ PT3/8
RUFERE B « (FTRERTECERAMIINEEA S ")
8 (EfTi %
O R#ER O M#maE
HI4E (mm) | @20] @25 @32 | @40 | @50 | 263 | @80 | @100 HIfE (mm) | @20 | @25 | @32 | 940 | @50 | @63 | @80 | @100
R TIZHE 10, 20, 30, 40, 50, 60, 75, 85, 100 RYFTIERE 10, 20, 30, 40, 50, 65, 75, 90

5 L JFREETIZ AR TG C SAREIAHEBAR
2. JDM RIIREIETMBPLHEENNR > THEEIFREIRR  WERKER > AREAHEBAL -

IR JDM 32x25-B- S9D 2

1 2 3 4 5 6
1[Reg | & mm) 2 [&E mm) | SUETRR (mm) 3 [ #m HiHER TEE
20 220 20 maOS | TR (1RER)
25 @25 @25 B ShIFEY
32 @32 @32
40 @40 @40 2
10~ 100 4 [ was WE
50 250 250 Wi | AMHE
63 263 763 s WS
80 280 @80
100 @100 2100 5 e RS E
BRBRICHETE > B8E L - :
T mineh | UHEURESS
9B CS-9B
9D CS-9D
30E CS-30E
6 [ Kt | mmsns
1 H 118
2 W28




JDM &5l — BHRII

SMERERR
JDM
© @20~ @25 © 932 ~0100
D
s s R
T
|
©
4-Ps -
O ShFER RS C AFEFRT
B2
A+ (2x17%2)
E
o B 2x(C+712)
" F G
F G N N N
:/
Lt s ([ aD-1D é
=i ¢ - X
/ :'\ N_3-0
Kz
Wi+ —
mE | M
o EAETRATRG  EREANEBAS - i mm
1ERER MR
B4\ 5297 B, | B, | D E F G H | H K, K, L [ M| N
A C A C
@20 | 445|195|645|295| 55 [195| — | 18 | 4 | 15| 13 | 14 | M4x0.7Px103% | M6x10P | 13 | 3 | 7.5
@25 | 484 (212|684 (312 6 | 22 | — |[201| 41 |19 | 15 | 16 | M5x0.8Px123F | M8x125P | 17 | 3 | 8
@32 55 24 75 34 7 24 50 |20.7| 3.7 | 33 16 17 M6 x 1P x 14 7% M10x 1.25P | 22 | 3 9
240 60 | 26.5| 80 | 36.5 7 34 58 |30.7| 3.7 | 33 | 25 27 | M8x1.25Px 14 % M14 x 1.5P 28 | 3 10
@50 66.2 | 28.6 | 86.2 | 386 | 9 36 71 [ 32151 |39 | 25 27 | M10x 1.5Px 15 M18 x 1.5P 38 | 3 |10.85
@63 | 73.5|32.5|93.5|425| 85 | 355|845 |31.6| 46 | 3.9 | 25 | 27 | MI0x1.5Px153% | M18x1.5P | 40 | 3 | 11
@80 | 93.3|41.3|113.3|51.3|10.7 | 437|104 (387 | 57 | 5 | 30 | 33 | MI4x15Px203F | M22x1.5P | 45 | 4 | 13
2100 99.3 | 45.3 |119.3| 55.3 | 8.7 | 41.7 | 124 | 38.7 | 5.7 3 30 33 M16 x 2P x 20 7% M22 x 1.5P 45 | 4 15
EI1E\ 529% o] P, (EE7L) P, | P, R S Ta VoW, | w, | X Y
@20 M5x0.8P | G M5x0.8Px6 7&;#FL @7 x5 & 11 5 — 34 24 8 6 6 — —
@25 M5x0.8P | W M6x1Px8 & ;#FL @8x6 & 14 6 — 40 28 10 8 8 — —
@32 PT 1/8 W M6x 1P x 8 F; 7l 08x6 F 14 6 6 44 | 34 | 12 | 10 | 10 | 15 | 136
@40 PT 1/8 WF M8x1.25P x 10 3% ; #FL @10x 8 F 18 8 6 52 | 40 | 16 | 14 | 14 | 15 | 136
@50 PT 1/4 W M8x1.25P x 10 3% ;7 @11x8.5 F 85| 85| 9 62 | 48 | 20 | 18 | 17 | 216 | 19
263 PT 1/4 OF M8x1.25P x 10 & ; #FlL @11x8.5 & 185 | 85 9.5 75 60 20 18 17 | 23.5 | 20.5
280 PT 3/8 O M12x 1.75P x 12 & ; #FL @914 x10.5 F 2251105 | 10 94 74 25 22 22 | 276 | 25
2100 PT 3/8 W M14x2P x 15 & ; 7L ©18.5x13 # 28 | 13 | 10 | 114 | 90 | 25 | 22 | 22 | 276 | 25






